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SYMBOL EXPLANATION 

M Method 

MA Method with accuracy 

CA Consistent accuracy 

A Accuracy(Answer) 

C Conversion 

S Simplification 

RT/RG/RD Reading from a table/ graph/ diagram 

NPR No penalty for units/rounding 

SF Correct substitution in a formula 

O Opinion/ reason/deduction/example 

J Justification 

R Rounding off/ 

F deriving a formula 

E Explanation 

U  Units 

AO Answer only full marks 
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MA 

MA 

MA 

MA 

 

QUESTION 1 [14 marks] 

Que Solution Explanation T/L 

1.1.1 

 

Weight in kg = 
500𝑔

1000
C 

                      = 0,5 A 

 

1C,Dividing by 1000 

1A, Answer 

  AO             (2) 

M 

L1 

 

 

1.1.2 

   

A = 
15

100
 × 𝑅9,93 

    = R1,4895 

    ≈ 𝑅1,49 A 

 

1MA, Multiplying by 15%  

1A, Answer  

     

        AO                    NPR                 (2) 

F 

L1 

 

 

1.1.3 
  

B = R23,99 – R3,13 

    = R20,89A 

 

OR 

B = 
100

115
× 𝑅23,99 

    = R20,86A 

 

1MA, Subtraction 

1A, Answer 

 

OR 

1MA, Multiplying by 
100

115
 

1A, Answer 

   AO                           (2) 

F 

L1 

 

1.1.4 

 

No. of loaves  = 
𝑅575

𝑅11,50
 MA 

 

                       = 50 CA 

  

1MA, Dividing by R11,50 

1CA, Number of loaves 

 

 AO (2)  

F 

L1 

 

1.1.5 

 

Number of sandwiches = 12 × 5 

                                      = 60 A 

 

1MA, Multiplying by 12 

1A, Number of sandwiches   

  

  AO                             (2) 

B 

L1 

 

1.1.6 

 

9 00 A 

 

2A, Concept of scale and conversion 

 

(2) 

MP 

L1 

 

 

1.1.7 

 

Number of brown bread = 
40

100
× 15 M 

                                        = 6 A 

 

OR 

Number of breads = 0,4 × 15 M 

                              = 6 A 

  

 

1M, Percentage concept 

1A, Answer 

 

OR 

1M, Multiply by 0,4  

1A, Answer. 

  AO                        (2) 

B 

L1 
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QUESTION 2 [15 marks] 

Que Solution Explanation T/L 

 

2.1.1 

 

8:00 amRT 

OR 

08:00 RT 

 

2RT, Reading from the graph 

 

Accept 8 am OR Eight in the morning

                           

     (2) 

M 

L1 

2.1.2 

 

Time = 12:00 + 24min + 6min RT 

          = 12:30pm RT 

 

 

2RT, Reading from the graph 

 

  AO                         
     (2) 

M 

L2 

 

2.1.3 

 

13 yearsRT 

 

2RT, Reading from the graph 

Accept 14 years   (2) 

B  

L2 

 

 

2.2 

 

Number of people per school = 8 + 1 = 9 MA 

Number of schools = 
63

9
 M 

                                = 7 CA 

 

1MA, Adding number of people 

1M, Dividing total 

1CA, Number of schools 

    (3) 

B 

L2 

 

 

2.3.1 

 

Area = 12𝑚 × 12𝑚 SF 

         = 144𝑚2
A 

 

1SF, Substituting correct values 

1A, Answer 

  AO                (2) 

M 

L2 

 

2.3.2 

 

Radius = 
7𝑚

2
 M 

            = 3,5m A 

 

1M, Dividing diameter by 2 

1A, Answer 

  AO                 (2) 

M 

L1 

 

2.3.3 

 

Area = 3.142 × 3,5𝑚 × 3,5𝑚SF 

         = 38,4895 𝑚2
CA 

CA from 2.3.2 

1SF, Substituting radius 

1CA, Answer 

NPR     (2) 

M 

L2 

 

  [15] 
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MA           MA 

RT 

RT 

RT 

RT 

QUESTION 3  [25 marks] 

Que Solution Explanation T/L 

3.1.1 

 

Income = R5 600 + R4 800 + R2 200 

             = R12 600 

 

 

1MA, Adding two correct values 

1MA, Adding the third correct value 

(2) 

F 

L2 

 

3.1.2 

 

Expenses that remains the same for longer 

period. E 

OR 

Expenses that are not variable. E 

OR 

Expenses that have constant amounts. E 

 

2E, Explanation 

 

 

 

(2) 

F 

L1 

 

 

3.1.3 

 

He could be saving for future expenses. R 

   OR 

He could be saving for unforeseen 

circumstances. R 

 

2R, Reason 

  

 (2) 

F 

L4 

 

 

3.1.4 

 

Entertainment, because he also pays a television 

subscription / Not a necessity / Wasteful 

expenditure.O 

   OR 

Food, too much money has been budget. O 

   OR 

Petrol, alternative means of transport can be 

used (clubbing). O 

   OR 

Clothing account, cash purchase / lay-bye  

can be used. O 

 

1RT, Mentioning the correct expense 

 

2O, Opinion 

 

 

 

 

 

 

 

(3) 

F 

L4 

 

3.1.5 

 

Because education is a basic need. O 

                                         OR 

Because education is important. O 

 

2O, Opinion 

 

 

(2) 

F 

L4 

 

3.2 

 

Distance = 
45

7,6
× 100M 

               = 592,1km A 

 

1M, Using rate 

1A, Answer 

NPR               (2) 

B 

L2 
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MA 

M 

MCA 
 

Que Solution Explanation T/L 

3.3.1 

 

Total = R2 599 + R1 690 

          = R4 289 A 

 

1MA, Adding both cash price 

1A, Answer 

  AO             (2) 

F 

L1 

 

 

 

3.3.2 

  

No of points/R1 = 
25990

𝑅2599
 M 

    = 10 A 
   

  OR 

 

R2 599 : 25 990 M 

R1 : 10 uCount points S 

 

OR 

 

No of points/R1 = 
16 900

𝑅1 690
 M 

    = 10 A 
 

OR 

 

R1 690 : 16 900 M 

R1   : 10 uCount rewards S 

 

1M, Dividing 

 

1A, Answer 

 

           OR 

 

1M, Ratio Concept 

1S, Simplification 

 

 

OR 

 

1M, Dividing 

1A, Answer 

 

 

           OR 
1M, Ratio Concept 

1S, Simplification  

               (2) 

B 

L2 

 

3.3.3.a) 

   

Saved amount = R4 289 – R3 000 M 

                        = R1 289 CA 

CA from 3.3.1 

1M, Subtraction 

1CA. Answer 

(2) 

F 

L2 

 

 

3.3.3.b) 

 

First year interest     = 
12

100
× 𝑅3 000 

                                 =R360 

First year balance    = R 3 360 CA  

Second year balance = R 3 360 + R360 M 

                                  = R3720A 

 

1M, % concept 

 

1CA, 1st year balance  

1M, Adding interests 

1A, Final amount 

(4) 

F 

L3 

 

 

3.3.3.c) 

He can finish his loan amount  

sooner/quicker. O 

 

OR 

He can reduce the interest amount added on his 

loan. O 

 

2O, Opinion 

 

 

 

(2) 

F 

L4 

 

                [25] 
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M 

M 

SF 

MA 

SF 

QUESTION 4[21 marks] 

Que Solution Explanation T/L 

4.1.1 

 

9 windows  RT 

 

2RT, Reading from a plan 

Accept 7    (2) 

MP 

L2 

 

 

4.1.2 
  

W = 12,1m – 6,1m - 2,3m – 3m   

     = 0,7mA 

OR 

W = 12,1m – ( 6,1m+ 2,3m + 3m) 

     = 12,1m – 11,4m MA 

     = 0,7m A 

 

1M, Subtracting all correct length 

1A, Answer 

OR 

1MA, Subtracting 11,4m 

1A, Answer 

   

  AO                   (2) 

MP 

L2 

 

4.1.3 

 

Number of people = 7RM 

 

2RM, Reading from the plan 

Accept 8     (2) 

MP 

L2 

 

 

4.1.4 

   

Perimeter = 2 × 12,1𝑚 + 2 × (2,4𝑚 +
                       6,1𝑚 + 2,4𝑚) M 

      = 24,2m + 21,8m S 

      = 46m 

 

1SF, Substitution in a formula 

1M, Adding width dimensions 

1S, Simplification 

     (3) 

M 

L3 

 

4.1.5 

 

The bedroom is between kitchen and 

laundry/bathroomRT 

 

2RT, Reading from the plan 

     (2) 

MP 

L4 

 

 

4.2.1 

 

Number of loads = 
480

24
 

                            = 20MA 

Duration = 20 × 4 

    = 80 minutes CA 

    = 1hr 20minutes 

Time      = 08:15 + 1hr20min M 

              = 09:35CA 

 

 

1MA, Number of loads 

 

1CA, Total duration  

 

1M, Adding duration 

1CA, Answer 

     (4) 

M 

L3 

 

 

4.2.2 

 

Total = 30 × 24 

          = 720A 

 

1M, Multiplication 

1A, Answer 

  AO            (2) 

MP 

L1 

 

 

4.2.3 

 

Possible arrangement of boxes per stack =  

   3 by 2 by 4 A 

     OR 

3 rows ,2 columns and 4 layers A 

 

 

2A, Answer 

 

     (2) 

MP 

L1 

 

 

4.2.4 

 

So that they will not fall when loaded O 

OR 

To avoid being wet. O 

  OR 

Security reasons O 

 

2O, Opinion 

 

     (2) 

MP 

L4 

 

                 [21] 
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